].. Read the blogs. What are Akiro and Beatriz wearing?
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Today’s an important day for my family. I’'m at I’m at my cousin,

my brother, Haruto’s, Coming of Age Day party Elena’s, fifteenth

for his twentieth birthday. My brother is wearing birthday party. Our
black pants and a black jacket. He isn’t wearing aunts, uncles, cousins,
traditional Japanese clothes. My sister and her friends, and neighbors
friends are wearing traditional kimonos. Cool! I'm are all here to celebrate
wearing a white shirt. My cousin, Eiji, is singing and Elena’s quinceariera.
dancing like Justin Bieber, and my grandparents I’'m wearing a new dress

are listening. Oh no! He can’t smg very well. ;-) and new red shoes.

] ’ This is a photo of Elena:
she’s dancing with her
father, Frank. She can
dance really well, and
she’s wearing a beautiful new dress, too.
| can’t wait for my fifteenth birthday
party next year!
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2. Read the statements. Circle T (true) or 4 Read the information. Complete the
F (false). Correct the false statements. statements with a relationship word.
1. Akiro’s brother is nineteen years old. T /@ 1. He's twenty years old and he'’s having a party.
2. Haruto isn't wearing traditional Akiro's _brother
Japanese clothes. T/F 2. He isn't singing very well.
3. Akiro is wearing a black shirt. T/F Akiro's
4. It's Elena's fifteenth birthday party. T/F 3. They're wearing traditional Japanese clothes.
5. Only Elena’s family are at the party. T/F Akiro’s and
6. Elena can dance very well. T/F
3. Correct the false statements in Exercise 2. 4. They're listening to Eiji.
a. . Akiro’s brother is twenty years old. Akiro's
b. 5. Frank is dancing with Elena. He's Elena’s
o and Beatriz's

6. She can dance very well.

Beatriz's
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